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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer any seven of the following
questions : 1x7=7

TS WAl AR R MebrT Tew Al ¢
(a) If Ais an uncertain event, then P(A)=?
W A Bt SFRR5S o =W, (90T P(A)= ?
(b) Under what condition ?
& 56 Avics?

P(8,)=P(B)
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(c)

(d)

The mathematical expectation of a
random variable is equal to the

of that variable. (Fill in the blank)

<! Ao 5o AR sregit i peT
I I | (7] AT 7 73)

If the mean of a Poisson distribution is
2, what is the variance ?

i) 4
) 5
fii) 2

(iv) 8 (Choose the correct answer)

M oo %7 O Wy 2 (ST 2PRe
m =2 (o5 Beveh! 6 Efveq)
@ 4
(i) 5
(iij) 2
(iv) 8
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(e) The range of standard normal variate Z

is

i) Otol

(i) O to
(i) -1 to +1
(iv) —o to +

(Choose the correct answer)

Sifie PG 5o A (TR’
) Otol

@ii) O to

i) -1 to +1

fiv) —o to +

(v Teats A Tferean)

Under what condition binomial
distribution tends to normal
distribution ?

56 TS Faolv %A ARG I IIF BICAA 2
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(9)

(h

i)

If () P(AB)=0.24, P(A)=0.60, then
(Co®) P(B/)="?

(i) 0.16
(i) 0.84
(iij) 0.36

(iv) None of the above
(Choose the correct answer)

(o7 Tewh! A Tivear)
If X and Y are two

then E(XY)=E(X).E(Y).
(Fill in the blank)

variables,

I X O Y 96 5OT =W, (OU%
E(XY)=E(X)E(Y) (30 3% 9 =)

What is random experiment ?

o 1T fbo
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2.
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Which one of the following is correct ?

(Choose the correct answer)

weTe Al TE (DR (FIF SA?
(5% GeIehr 5 Cfead)

(i) =0 2
(i) uy<o 2
(i) pp >0>
fiv) None of the above

@] oINS T

Answer any four of the following :

2x4=8

wTS AR et bifdbie B fud ¢
(a) Prove that

E(x?)2 {E(X)P
where X is a random variable.

) I R
E(x?)2 {E(X)P
TS X <ot Ao 5T AM |
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(b)

(d)

(e)

Define mathematical expectation.
M ey icen fam |

Write down the statement of central
limit theorem.

@ﬁaﬂémmiﬂﬂﬂaﬁﬁﬁﬁtﬁhm|

Find the mean of the binomial
distribution.

Fer 3% g Sftven

S.tate any two characteristics of Poisson
distribution.

RIoA 3R AR 751 4o g <

State exhaustive events with examples.

W‘fﬂWWmWW|
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Answer any three of the following :

5x3=15

oo MAIRRR et oo Tex o ¢

(a)

(b)

(c)
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State and prove Bayes theorem.

(@251 ooy TrEd IR A

Three unbiased coins are tossed. Find
the expectation and variance of the
number of heads shown by the coins.

fORB! i eoa Fowst 31 TR ™ @HR
(ST 18T YA A SR 2R R 30

A sum is given to five students A, B, C,
D and E. Their respective chances of

solving it are ¥, Y, %, ¥% and ¥%.
What is the probability that at least
one of the students solve the sum ?

5T A, B, C, DIR ET (I <5} S5
PR T T e (SRR AT SIID!
TR IR TSRS LA TS Y, Y, Y, Y
R Y| S TS GG QR SHO! It
R IR [ e
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(d) Prove that (39 3] @)

Ha = My = 4pap; + 6utppn? - 34

(e) State the properties of normal

distribution.
A IR G o |
4. Answer any three of the following :
10x3=30
woTe AARRA Rrewt Rfse Sea f o
(@) () State and prove the theorem of
compound probability. 6
P TSR Dt e s et 741

(ii) ?‘mc} the probability that in 2
;tmlly of 2 children (1) both are
a:zz (2) both are of the same sex,
childnl;u}g that the probability of a

€ing a boy or a gijrl is equal-
2+2=4

tﬂﬁﬁﬂﬁl’mmmﬁ‘m
TRl G
3 4R 01 P st e o ot

R() 5 @R (0
TSRl iy o (2) = et @R
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(b) ()

i)

What is probability density
function (p.d.f) ? Also write down
the properties of distribution

function. 2+3=5
R Ty FoW ¢ 3% TR PR
fen

The p.d.f. of a continuous
distribution is
f(x)=yo(x—x2); 0<x<1

Find y, and the distribution

function. 5 -
51 SRR 3% TSR WY ToW G
4374 8

f(x)=yo(x—x2); 0<x<1

(TS yp I T TS W% ITR T
i e =i
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(c)

)

(ti)

If X is normally distributed with
mean 25 and variance 25, then

find the probability of the
following : 6

W X9 SN IT PR S S Y

25 % dN{d 25, (0% oo AR
eIt Refa =41 2

(@ P(X=235)

(b) P(X< -10)

(c') P(-10< X <35)

Given that (ftai witg (@)
P(0<2z<2)=0.4772 and (Wi=)

P(0<2<3)=0.49865

State De Moivef-Laplace and

Lindeberg-Levy ¢ Pt
theorem. Y central 21_:31_1:

De Moiver-Laplace %=, Lindeberg-

Levy ¥
oy @@wm%ﬂmm
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(d) If x~U(0,20), then find
) PR<X<18)

(i) mean and standard deviation of
the distribution.

Also discuss the properties of uniform
distirbution. 2+(2+2)+4=10
W x ~U(0,20), =8 Refa =
) P(2<X<18)
(i) IVAOR TG e Mo [oew
FHNCS FATARTAE IR S 1 |
e) () For binomial distribution mean =
1.0, variance = 0.8. Find —
(1) n,pandgq
(2) P(X=0)
(38) P(X>0) 6

51 Faol 3979 QIR 1T = 1.0 SR 2
= 0.8 T@ Ry = —

(1) n,p9*q

(2) P(X=0)

@ P (X>0)
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(i) Find moment generating function

of Poisson distribution. 4
oo 3B TF B TR W S|
() Write short notes on: 2x5=10
5 (Bt fomt 8
i) Uniform distribution
I SRBA
(i) Mutually exclusive events
T~ Rafere ot
(iii) Normal distribution
AN T
(iv) Theorem of total probability
TEIROR @R
(vJ Gamma distribution
S 3%
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